EARAROBEEIERT — 2 N— IBISH —F

201355/ 1H (K) 3EEHEIA

Sl C 3= H5%R4mtE (xwlw | lmEmml - |5 @) o 8
[A&4£] 1% :200,000" ~ 2#%:36,000” ~ 337%&:18,000 ™ . 43&:10,000 57 :6,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o . B4 | KEREK 1:33.7 4-4-7-6 | 40.3| — 1 436 | /IVEt (E)
1 g1 NE=71 -2 54.0 =) @) | B K=25T
L1135 —L BYLF—IF> W $%F
i 4 | REFR 1:33.8 5-5-2-1 |40.6 | — 2 430 |ER# (EH)
2|8|10| FrEU—% 54.0 (172) s | B) mmfE
LB /IR BiALY—TL2F =RI7r7—L4A
S o4 | AUEE 1:34.0 6-6-2-3 |40.8| — 6 410 |EERS (ER)
3(7|8 7—F '7f 54.0 (11/4) -7 |WTH
L:xg—F7aAv—> B:Fv—FKILb T E—
N IRAFIH :34. —1-1- . = IRFSER (FEHH)
N BESCEYE: R i 25 B L s
R:ARLHE—A>F—7 B:O-LILTYULEX SRS
ERES :34. -9-2- . - ARE= (ER)
B 7-xuu7T IR [oon S IR ° (4316) EEET
RZYYLTHLTF— By h—54F> JO-Y—T7—L
3 o i 4 | ERAIE 1:34.3 3-3-5-5 |41.1| — 7 404 | BHEZ (EMR)
6111 Ead—-—XESH 54.0 (7E) (+5) () LY R
R:7RY4¥Y K> B:EQ-VI(7 =i &S
. SN 410 | EERRE— 1:34.7 6-6-9-7 | 41.3| — 5 519 | EEF— (FE)
71717 A= R=2 56.0 (21/2) (+3) | ELEEM
LYo F—HALR BIVI—I Dar ley
= 4 8 | FERE 1:34.9 8-8-8-9 |41.5| — 10 | 440 |ENEFIEE (EME)
g8l5l5|EHV/F=F 54.0 A 1/4) (<) | K&k
LNTIUAHLTzA— B:YILTIT—AA K IR 7 7 — L
N . ANIIEr ik :35. -10-10- . — BAEE (F)
9 4 YN—T o —F 4 4 e 1(735t§) 9-10-10-10 | 41.1 9 ;1;530) -t
R:Tv TRy b Biasavly—F EiEitse]
i 4 | MNERF 1:35.9 2-2-6-8 | 42.7| — 8 423 | BIEFIER (EH)
RiZa—qA>95 K B:IZXhSYH—I hiE
® 1—F—@EBIERL
1T=7r= 2,9,1,6,10,(7,8),5,(3,4)
23—74— |2,9,1,6,10,(7,8),5,3,4
Ja=5= 2,(3,8,10),1,9,6,5,7,4
40—+ — 10,2,8,3,1,6,7,9,5,4
[ N5
B 6 330H 714K 6-10 330M e E 6-8 510 JEE 6-8-10 1,600
B B 6 130M 6-8 550M B = 6-10 520 EE 6-10-8 5,740
10 140 8-10 700M B H 6-10 810M
8 140/

ABICOVWTRDTEEERROODE. TR LIV,




